Date : 29th Nov 2023

TTHIE

DAILY

SSC Banking WB Police

Q:1 Four of the following five are in some way
similar and they create a group among
themselves. Which of these is not related to this
group?

Theocracy, Oligopoly, Autocracy,

Plutocracy, Anarchy

1. Oligopoly

2. Autocracy

3. Anarchy

4. Theocracy

Q:2 Four of the following five are in some way
similar and they create a group among
themselves. which of these is not related to this
group?

Chrome, Internet Explorer, Firefox, Safari, Java

1. Safari

2. Chrome

3. Firefox

4. Java

Q:3 Four of the following five are in some way

similar and they create a group among

themselves. Which of these is not related to this

group?

Symphony, Communism, Socialism, Capitalism, Fascism
1. Socialism

2. Capitalism

3. Symphony

4. Communism

Q:4 Four of the following five are in some way
similar and they create a group among
themselves. Which of these is not related to this
group?

Authoritarianism, Totalitarianism,

Federalism, Absolutism, Melody

1. Federalism

2. Melody

3. Authoritarianism

4. Totalitarianism

Q:5 Four of the following five are in some way
similar and they create a group among
themselves. Which of these is not related to this
group?

Aristocracy,

Meritocracy, Rhythm, Theocracy, Technocracy
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1. Rhythm

2. Technocracy
3. Meritocracy
4. Aristocracy

Q:6 Four of the following five are in some way
similar and they create a group among
themselves. Which of these is not related to this
group?

Feudalism, Pluralism,

Confederacy, Monopoly, Composition

1. Composition

2. Monopoly

3. Pluralism

4. Feudalism

Q:7 Four of the following five technology terms are
in some way similar and create a group among
themselves. Which of these is not related to this
group?

Algorithm, Firewall, Haiku, Augmented

Reality, Biometric Authentication

1. Haiku

2. Algorithm

3. Augmented Reality

4. Firewall

Q:8 Four of the following five technology terms are
in some way similar and create a group among
themselves. Which of these is not related to this
group?

Quantum

Computing, Encryption, Nanotechnology, Artificial
Intelligence, Sonnet

1. Encryption

2. Nanotechnology

3. Sonnet

4. Quantum Computing

Q:9 Four of the following five are in some way
similar and they create a group among
themselves. which of these is not related to this
group?

Democracy, Monarchy, Republic, Oligarchy,
Harmony

1. Republic

2. Monarchy

3. Democracy
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4. Harmony

Q:10 Four of the following five are in some way
similar and they create a group among
themselves. which of these is not related to this
group?

Theory of General Relativity, Theory of Evolution,
Quantum Mechanics, Theory of Plate Tectonics,
Theory of Gravity

1. Theory of Evolution

2. Theory of General Relativity

3. Quantum Mechanics

4. Theory of Gravity
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IAnswer Key

5. (1)
10. (1)

1. (1) 2. (4)
6. (1) 7.(1)

IAnswers and Solutions

Q:1 The correct answer is Option 1i.e. Oligopoly
Autocracy, Plutocracy, Theocracy, and Anarchy are
forms of government or social systems, while
‘Oligopoly’ is an economic term referring to a
market structure dominated by a small number of
large firms. Therefore, Oligopoly is not related to
the group of political systems.

Hence, the correct answer is Oligopoly.

Q:2 The correct answer is Option 4 i.e. Java

In this group, all the terms relate to web browsers
except Java, java is a programming language that
is used in coding.

Hence, the correct answer is Java.

Q:3 The correct answer is Option 3 i.e. Symphony
Communism, Socialism, Capitalism, and Fascism
are political and economic ideologies, while
'Symphony' is a musical composition. Therefore,
Symphony is not related to the group of political
and economic systems.

Hence, the correct answer is Symphony.

Q:4 The correct answer is Option 2 i.e. Melody
Authoritarianism, Totalitarianism, Federalism, and
Absolutism are forms of government or political
concepts, while 'Melody' is a musical term.
Therefore, Melody is not related to the group of
political systems.

Hence, the correct answer is Melody.

Q:5 The correct answer is Option 1 i.e. Rhythm

Aristocracy, Meritocracy, Theocracy, and
Technocracy are forms of governance or social
systems, while 'Rhythm' is a musical concept.
Therefore, Rhythm is not related to the group of
political and social systems.

Hence, the correct answer is Rhythm.

Q:6 The correct answer is Option 1i.e. Composition
Feudalism, Pluralism, Confederacy, and Monopoly
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are terms related to governance or economic
structures, while '‘Composition’ is related to music
or the act of creating something. Therefore,
Composition is not related to the group of political
and economic systems.

Hence, the correct answer is Composition.

Q:7 The correct answer is Option 1i.e. Haiku
Algorithm, Firewall, Augmented Reality, and
Biometric Authentication are all technology-
related terms, while 'Haiku' is a form of Japanese
poetry and is not directly related to technology.
Therefore, Haiku is not part of the group.

Hence, the correct answer is Haiku.

Q:8 The correct answer is Option 3 i.e. Sonnet
Quantum Computing, Encryption, Nanotechnology,
and Artificial Intelligence are technology-related
terms, while 'Sonnet' is a form of poetry and is not
directly related to technology. Therefore, Sonnet is
not part of the group.

Hence, the correct answer is Sonnet.

Q:9 The correct answer is Option 4 i.e. Harmony
In this group, all the terms relate to forms of
government or political systems. 'Harmony' is the
word that does not belong in this category, as it
represents a state of peaceful and pleasing
coexistence, while the others pertain to different
types of political systems.

Hence, the correct answer is Harmony.

Q:10 The correct answer is Option 1 i.e. Theory of
Evolution

The correct answer is the Theory of Evolution. This
is because the other options are all well-
established scientific theories in physics and earth
sciences. The Theory of Evolution, on the other
hand, belongs to the field of biology. Hence, it is
not related to the group of physical science
theories.

Hence, the correct answer is Theory of Evolution.
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